Spring Test 4

1 =6 X 11 2|53X1=

3| 72= + 33 q | 12=

5| 60X10= 6 | 820 — 267 =

7
7| 22%x0= 8| _>

9 112= 10 =362 — 28

" 3+5= 12 =84+7

13| 6°= 19| 5 X721 X2 =

7136
15, 73 16 | 836 — — 428
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Spring Test 4 (continued)

17 | 4632 + 100 = 18 o

6000

213150 22| 642 = +~9

23| 3629 + 84 = 24| 6|85

25| 414=6 X 26| 7.1 X 1000 =

2369 _
27| « - 28 =364 + 25 + 3182
\
Total marks /28
J
HQW we" did YOU dO? * with correct place value 10 | 23 | 28
Colour the numbers of the — with zeros 618120
questions you got correct. Multiples of tables 5
Square and cube numbers 419 [13]18
+ or x by 10, 100 or 1000 5117 |26
Short x 15127
Short +, including r 19 (211222425
Fractions 11
Missing numbers 3 1618|2225
+ 1 |23]28
— 3]16|8]10]|16]20
X 112145719 ([183]|114]15(22]26]27
+ 12117 {18 119 | 21| 24|25
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